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EANE|EAE|EAE|(EAE|EAE|EAE|(EAE|EAE|EAE|EAB|FEAE|EAE| EAE

TR fRIEBRT 2 2 88 92 28 31 54 54 13 15 - - 43
m ET &t 7 17| 1,245 | 1,281 74 85| 178 | 191 1,758 | 1,923 469 | 755| 3440
X 1 2| 855| 877 15 16 45 48| 873| 959 | 300 384| 2126
BEM - - 54 54 2 2 2 2 52 52 2 2 89
E 20 2 3 9 9 8 8 6 6 67 76 21 28 24
HE S HT 1 1 22 26 6 7 1 1] 194 194 8 8 -
B 4 [RET 2 10 20 20 1 10 - - 20 46 7 7 80
®F E - - - - - - 2 2| 150 152 - - 5
b 2 PR HT - - 20 920 - - 9 9 83 83 2 2 318
=z )\ B 1 1 81 81 37 37 - - 67 67 11 11 76
B8] - - 14| 124 2 2| 10| 120 27 28 - - 130
X % H - - - - 1 - - -1 173 174 - - 222
th B OET - - - - 2 3 3 3 52 92| 118| 313 370
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(8) BFREXIE -WMEE(T5—27)

(ER245%E)

HERTARE

Bl B E X
BN 518
KXiEH 259
miET 35
= EH 26
= H HT 44
Rl 4 IR T 10
P HT 29
B Z A HET 17
= J\ BT 25
1E3E)I|ET 20
X B HT 34
A BT 19
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